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Essential questiun How can you solvé g system of equations by gmphing? '

COMMON T
COR[‘.

_ ccsEEaa .

) \' - ccakEe

Investigating Systems of Equations : A |
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.B. Pxplain how ;0 tell whethm the 01dexed pait (2 —1}isa solutton of the equaﬂon -
y=3x— 2 mthout using the graph. -

put (2,~1) intoe FAL f’?w*fdn'ce@{

. sl is o falSt: s+a+emen+ This

memts b s por A Selwtion  ~L= ey - -->~/7f
.G Explain how to tell whether the ordered paix (2, ~1)isasolution of the equation .

© y=-—2x+3 Wiﬂmgt_usingthe graph. ‘ '
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b Explam how to use the glaph to tell whetheL the ordered pair (2, ——1) is a solution of
either equatlon

T yhe ﬂome (5 ~t) "
L he IK\Q , vYhia. 34’ [.S G?J—d/q)l’/t?/\

E’ rm:i" n 01&eled pair that J?a soﬂ&n of both equatlons Test the coordinates in each
equation to vexify your, hypothesis _
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It omt (1) s e
- ‘The point _Lﬂ_l__ isa solution of both equatmns
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_ An ordered pair (x, ¥} 1s a solution of an equatién in two varfables if substituting

the x- and y-values Into the cquation results in a true statement. A gystem of;
equAToNs 15 a set of equations that have the same variables, An ordered pairfsa
solution of a sys tem of equations if it is a solution of every equation in the system.

Smce the graph of a function represents a]l ordered pails that are solutions of
‘the related equation,; If a.point lies on the graphs of two functions, the pointisa.

. solutlon of both related equations

Solve each system by g_r;aphing.
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AMPLE\ Soiuing Systems Graphically -

Start by graphihg each function. -

Identify if there are any ordered pairs that are
solutions of both equations.

The so}_tit[on of the system appearsto he

{13
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To check your answer, you can substitute the values for x

.and yinto each equation and make sure the equations are
tine statements. .

Start by graphing each function.

. ¥dentify if there are any orderéd pairs that are. '
solutions of both equations, :

.The graphs are paiallel' so there is no ordered
pail thatis a solution of both equations. o
The system has . .

M. Solutiony.

Stalt by graphing each functmn.

Idenﬁfy if thére are any ordered pairs that ale '
solutions of hoth equations,

The graphs ovetlap; so every ordered pair that s
a solution of one equation is also a'solution of
the other equation. The system has
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E X A M PLE=\ Sohnng a Real-World Problem by Graphmg

'~ Kelsha and her friends visit the concession stanhd at a footba}I game. The
~ stand charges $2 for a hot dog and $1 for a drink. The friends buy a total of 8 -
Items for $11 Tell how many hot dogs and how many drinks they bought

A Let xrepresent the numbel of hot-dogs they bought and ¥ 1sp1 esent the numbel of .
drinks they bought, :

Wiite an equatlon repr essnﬁng the number of’ items they purchased.
Numbm ofhotdogs  +  Numberofdrinks = - Total itenis
Write an equaﬂon representing the money spent on the items

Cost of 1 hot dog times Cost of 1 dvink times
number of hot dogs ' .. number of drinks’

= Tutal cost.
B Wilte your equaﬂons in sloPe-mtercept form. '

V=Xt g yi-~u< +
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L€ Graph the solutions of both equatlonis. N
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Hot dogs

D Ust the graph to idenhfy the scnhmon of the system of equanons Checkyour
answer by subsututmg the ordered pair into both equations

The point( § S l Is asolutmn of both equatfons I =il W -

“E.: Intexpret the solutlon in the original context

Keisha and her frie_nds bought g hot dog(s) and S drink(s),
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-3 Con]ecture Why do you think Ihe graph is limited to the ﬁrst quadlant? '
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Solve each system by graphing. . g L : )
1 {fod;j/:lﬂ Y= Z Xt & _ 2 {21: y= OﬁY" (2
- I+y=2 ~ Y2 =X34T Tl wdy=-—6 —lvu *X‘F 6
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Graph each system and tell how many sofutions the system has. - ’
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-~ _Ia £i'n Q‘)'“ M solutlons . ' /[/ ¢ sohutions §
‘Mrs Norales wrote a test with 15 questlons covering speilmg and 5';
vocabulary. Spelling questions (x) are worth 5 points and vocahulary - B% :
quastions (y) are worth 10 points. The’ maxlmum number of points P
possible on the test i is 100. . . T 8
. : 3 a
5. Write an. equation in slope intercept form to rep1 esent _% 20 g
the number of questions on the test, g 2
& 15 a
Y 2~ %+ € 3 3
. ' E 10 - é: -
. 6. Write an equation in slope-intetcept fmm to represent g 5 AN ‘ '
the total points on the test, _ N N - 53
- "‘.)_ 10 - oo % s 0 15 20 25
r )C 1 : - ' Spel[[l'xgz Questions
7. Glaph the solunons of boih. equations. _ ' ~ ‘
: 6
8. Useyourgraphto toll how many of each question type are on the test, - . Q
. : E

_Lg._ spelling quesﬂons, __i_ vocabulary questmns
; Unit 3 (OJ 5) : 78 . o " Lesson 3




